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because S + V!~ DT now that S+ V ! 5~ DT

as S+ V:~HBDOT, ~F 5K, ~IZoNT seeing that S+ VI ~7Zho

since S+ V : ~Bo7T, ~LIK () on the ground(s) that S + V:~& WL HHHT

O AYbBBERELDOT, MEFTXEPH>TOLLENEK,

Now that you are a high school student, you know what to do.

@ WHEFHEREBOT, W7 T T EBTERM -1,

He couldn’t go there as he was ill.

KRA VM [for S+ V=WSDIE~EMhibT]
] IEEHBICERVEL, LW DRBIZAEIRELE > TVEMhEK,

He must be rich, for he has a big house.
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(lE] ) T T BEERI AR I,

(1) Let’s try to do our best ( ) we can expect no help.
@ since @ when @ if @ as soon as
2 ( ) that you have passed your test, you can drive alone.
o It @ Time @ Then @ Now
(3) She must be sick, ( ) she looks pale.
@ and @ nor @ that @ for



